

SOME PROPERTIES OF HYPERGEOMETRIC
FUNCTIONS FOR A CERTAIN SUBCLASS
OF UNIFORMLY CONVEX FUNCTIONS

K. Suchithra¹ §, B. Adolf Stephen², A. Gangadharan³, S. Sivasubramanian⁴

^{1,3}Department of Applied Mathematics
Sri Venkateswara College of Engineering
Sriperumbudur, Chennai, 602105, INDIA

¹e-mail: suchithravenkat@yahoo.co.in

³e-mail: ganga@svce.ac.in

²Department of Mathematics
Madras Christian College
East Tambaram, Chennai, 600059, INDIA

e-mail: adolfmcc2003@yahoo.co.in

⁴Department of Mathematics
Easwari Engineering College
Ramapuram, Chennai, 600089, INDIA
e-mail: sivasaisastha@rediffmail.com

Abstract: The purpose of this paper is to give a sufficient condition for a (Gaussian) hypergeometric function to be in a subclass of uniformly convex functions of order α , which is also necessary condition under additional restrictions. Furthermore, an integral operator related to the hypergeometric function is also considered.

AMS Subject Classification: 30C45

Key Words: analytic, convex and starlike functions, Hadamard product, hypergeometric functions, integral operator

Received: February 14, 2008

© 2008, Academic Publications Ltd.

§Correspondence author

1. Introduction

Let \mathcal{A} be the class consisting of functions of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \tag{1}$$

that are analytic in the open unit disk $\Delta = \{z : |z| < 1\}$. Let \mathcal{S} , $\mathcal{S}^*(\alpha)$ and $\mathcal{K}(\alpha)$ denote the subclass of \mathcal{A} consisting of univalent, starlike and convex functions of order α , respectively. For convenience, we write $\mathcal{S}^*(0) = \mathcal{S}^*$ and $\mathcal{K}(0) = \mathcal{K}$ (see, e.g., Srivastava and Owa [15]).

Motivated by geometric considerations, Goodman [4, 5] introduced the classes \mathcal{UCV} and \mathcal{UST} of uniformly convex and starlike functions. Ronning [9] (also, see [6]) gave a more applicable one variable analytic characterization for \mathcal{UCV} . That is, a function $f(z)$ of the form (1) is in \mathcal{UCV} if and only if

$$\Re \left\{ 1 + \frac{z f''(z)}{f'(z)} \right\} \geq \left| \frac{z f''(z)}{f'(z)} \right| \quad (z \in \Delta).$$

We note [4] that the classical Alexander’s result, $f(z) \in \mathcal{K} \Leftrightarrow z f'(z) \in \mathcal{S}^*$ does not hold between the classes \mathcal{UCV} and \mathcal{UST} . Later on, Ronning [10] introduced the class \mathcal{S}_p consisting of functions such that $f(z) \in \mathcal{UCV} \Leftrightarrow z f'(z) \in \mathcal{S}_p$. And also in [9], Ronning generalized the classes \mathcal{UCV} and \mathcal{S}_p by introducing a parameter α in the following way. That is, a function $f(z)$ of the form (1) is in $\mathcal{S}_p(\alpha)$ if it satisfies the analytic characterization

$$\Re \left\{ \frac{z f'(z)}{f(z)} - \alpha \right\} \geq \left| \frac{z f'(z)}{f(z)} - 1 \right| \quad (\alpha \in \mathbb{R}, z \in \Delta),$$

and $f(z) \in \mathcal{UCV}(\alpha)$, the class of uniformly convex functions of order α , if and only if $z f'(z) \in \mathcal{S}_p(\alpha)$. More over, Srivastava and Mishra [14] presented a systematic and unified study of the classes $\mathcal{UCV}(\alpha)$, $\mathcal{S}_p(\alpha)$.

Definition 1.1. A function $f(z)$ of the form (1) is in $\mathcal{U}(\lambda, \alpha)$, if it satisfies the analytic characterization

$$\begin{aligned} &\Re \left[\frac{\lambda z^3 f'''(z) + (1 + 2\lambda) z^2 f''(z) + z f'(z)}{\lambda z^2 f''(z) + z f'(z)} - \alpha \right] \\ &\geq \left| \frac{\lambda z^3 f'''(z) + (1 + 2\lambda) z^2 f''(z) + z f'(z)}{\lambda z^2 f''(z) + z f'(z)} - 1 \right| \\ &\hspace{15em} (\alpha \in \mathbb{R}, 0 \leq \lambda \leq 1, z \in \Delta). \end{aligned} \tag{2}$$

We also note that $\mathcal{U}(0, \alpha) = \mathcal{UCV}(\alpha)$.

We denote by T , the subclass of \mathcal{S} consisting of functions of the form

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad (a_n \geq 0) \tag{3}$$

and let $\mathcal{U}_T(\lambda, \alpha) = \mathcal{U}(\lambda, \alpha) \cap T$.

Let $F(a, b; c; z)$ be the (Gaussian) hypergeometric function defined by

$$F(a, b; c; z) = \sum_{n=0}^{\infty} \frac{(a)_n (b)_n}{(c)_n (1)_n} z^n,$$

where $c \neq 0, -1, -2, \dots$ and $(\beta)_n$ is the Pochhammer symbol defined by

$$(\beta)_n = \begin{cases} 1 & \text{if } n = 0, \\ \beta(\beta + 1) \dots (\beta + n - 1) & \text{if } n \in \mathbb{N} = \{1, 2, \dots\}. \end{cases}$$

We note that $F(a, b; c; 1)$ converges for $\Re(c - a - b) > 0$ and is related to the Gamma functions by

$$F(a, b; c; 1) = \frac{\Gamma(c)\Gamma(c - a - b)}{\Gamma(c - a)\Gamma(c - b)}. \tag{4}$$

Merkes and Scott [7] and Ruscheweyh and Singh [11] used continued fractions to find sufficient conditions for $zF(a, b; c; 1)$ to be in $\mathcal{S}^*(\alpha)$ ($0 \leq \alpha < 1$) for various choices of the parameters a, b and c . Carlson and Shaffer [2] showed how some convolution results about $\mathcal{S}^*(\alpha)$ may be expressed in terms of a linear operator acting on hypergeometric functions. Recently, Silverman [12] gave necessary and sufficient condition for $zF(a, b; c; z)$ to be in $\mathcal{S}^*(\alpha)$ and $\mathcal{K}(\alpha)$ (see also [8, 13]).

In the present paper, we determine sufficient conditions for $zF(a, b; c; z)$ to be in $\mathcal{U}(\lambda, \alpha)$ and also give necessary and sufficient conditions for $zF(a, b; c; z)$ to be in $\mathcal{U}_T(\lambda, \alpha)$ with appropriate restrictions on a, b, c . Furthermore, we consider an integral operator related to the hypergeometric function.

2. Some Sufficient Conditions

To establish our main results, we need the following lemmas.

Lemma 2.1. *A sufficient condition for $f(z)$ of the form (1) to be in $\mathcal{U}(\lambda, \alpha)$ ($0 \leq \lambda \leq 1, -1 \leq \alpha < 1$) is that*

$$\sum_{n=2}^{\infty} [2\lambda n(n - 1)(n - 2) + [2 + (3 - \alpha)\lambda]n(n - 1) + (1 - \alpha)n] |a_n|$$

$$\leq 1 - \alpha. \tag{5}$$

Proof. In view of the definition of $\mathcal{U}(\lambda, \alpha)$, it is sufficient if we verify the condition

$$\begin{aligned} & \left| \frac{\lambda z^3 f'''(z) + (1 + 2\lambda)z^2 f''(z) + z f'(z)}{\lambda z^2 f''(z) + z f'(z)} - 1 \right| \\ & \leq \mathcal{R} \left[\frac{\lambda z^3 f'''(z) + (1 + 2\lambda)z^2 f''(z) + z f'(z)}{\lambda z^2 f''(z) + z f'(z)} - 1 \right] + 1 - \alpha. \end{aligned}$$

We have

$$\begin{aligned} & \left| \frac{\lambda z^3 f'''(z) + (1 + 2\lambda)z^2 f''(z) + z f'(z)}{\lambda z^2 f''(z) + z f'(z)} - 1 \right| \\ & \quad - \Re \left[\frac{\lambda z^3 f'''(z) + (1 + 2\lambda)z^2 f''(z) + z f'(z)}{\lambda z^2 f''(z) + z f'(z)} - 1 \right] \\ & \leq 2 \left| \frac{\lambda z^3 f'''(z) + (1 + 2\lambda)z^2 f''(z) + z f'(z)}{\lambda z^2 f''(z) + z f'(z)} - 1 \right| \\ & \leq \frac{\sum_{n=2}^{\infty} [2\lambda n(n-1)(n-2) + 2(1+\lambda)n(n-1)] |a_n| |z|^n}{|z| - \sum_{n=2}^{\infty} [\lambda n(n-1) + n] |a_n| |z|^n} \\ & \leq \frac{\sum_{n=2}^{\infty} [2\lambda n(n-1)(n-2) + 2(1+\lambda)n(n-1)] |a_n|}{1 - \sum_{n=2}^{\infty} [\lambda n(n-1) + n] |a_n|}. \end{aligned}$$

The above expression is bounded by $1 - \alpha$ if and only if equation (5) is satisfied and the proof is complete. \square

Now, we show that the sufficient condition of Lemma 2.1 for $\mathcal{U}(\lambda, \alpha)$ is also a necessary condition for $\mathcal{U}_T(\lambda, \alpha)$.

Lemma 2.2. *A necessary and sufficient condition for $f(z)$ of the form (3) to be in $\mathcal{U}_T(\lambda, \alpha)$ ($0 \leq \lambda \leq 1, -1 \leq \alpha < 1$) is that*

$$\begin{aligned} & \sum_{n=2}^{\infty} [2\lambda n(n-1)(n-2) + (2 + (3 - \alpha)\lambda)n(n-1) + (1 - \alpha)n] a_n \\ & \leq 1 - \alpha. \end{aligned} \tag{6}$$

Proof. In view of Lemma 2.1, we need to only show that $f(z) \in \mathcal{U}_T(\lambda, \alpha)$ satisfies the inequality (6).

If $f(z) \in \mathcal{U}_T(\lambda, \alpha)$, then the definition of $\mathcal{U}_T(\lambda, \alpha)$ yields

$$\begin{aligned} (1 - \alpha) + \mathcal{R} \left[\frac{\lambda z^3 f'''(z) + (1 + 2\lambda)z^2 f''(z) + z f'(z)}{\lambda z^2 f''(z) + z f'(z)} - 1 \right] \\ \geq \left| \frac{\lambda z^3 f'''(z) + (1 + 2\lambda)z^2 f''(z) + z f'(z)}{\lambda z^2 f''(z) + z f'(z)} - 1 \right|. \end{aligned}$$

Or equivalently,

$$(1 - \alpha) - \mathcal{R} \left[\frac{\sum_{n=2}^{\infty} [\lambda n(n - 1)(n - 2) + (1 + \lambda)n(n - 1)] a_n z^n}{z - \sum_{n=2}^{\infty} [\lambda n(n - 1) + n] a_n z^n} \right] \geq \left| \frac{\sum_{n=2}^{\infty} [\lambda n(n - 1)(n - 2) + (1 + \lambda)n(n - 1)] a_n z^n}{z - \sum_{n=2}^{\infty} [\lambda n(n - 1) + n] a_n z^n} \right|.$$

Choosing values of z on the real axis, so that the left side of this inequality is real, and letting $z \rightarrow 1$, we obtain

$$\left\{ (1 - \alpha) \left[1 - \sum_{n=2}^{\infty} (\lambda n(n - 1) + n) a_n \right] - \sum_{n=2}^{\infty} [\lambda n(n - 1)(n - 2) + (1 + \lambda)n(n - 1)] a_n \right\} \geq \sum_{n=2}^{\infty} [\lambda n(n - 1)(n - 2) + (1 + \lambda)n(n - 1)] a_n,$$

which gives the required result (6). □

By using Lemma 2.1, we now derive the following theorem.

Theorem 2.1. *If $a, b > 0$ and $c > a + b + 3$, then a sufficient condition for $zF(a, b; c; z)$ to be in $\mathcal{U}(\lambda, \alpha)$ ($0 \leq \lambda \leq 1, -1 \leq \alpha < 1$) is that*

$$\frac{\Gamma(c)\Gamma(c - a - b)}{\Gamma(c - a)\Gamma(c - b)} \times \left[\frac{2\lambda(a)_3(b)_3}{(1 - \alpha)(c - a - b - 3)_3} + \frac{[2 + (9 - \alpha)\lambda](a)_2(b)_2}{(1 - \alpha)(c - a - b - 2)_2} + \frac{[2 + (3 - \alpha)(1 + 2\lambda)]ab}{(1 - \alpha)(c - a - b - 1)} + 1 \right] \leq 2. \tag{7}$$

Condition (7) is necessary and sufficient for F_1 defined by $F_1(a, b; c; z) = z(2 - F(a, b; c; z))$ to be in $\mathcal{U}_T(\lambda, \alpha)$.

Proof. Since

$$zF(a, b; c; z) = z + \sum_{n=2}^{\infty} \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} z^n,$$

according to Lemma 2.1, we need only to show that

$$\sum_{n=2}^{\infty} [2\lambda n(n - 1)(n - 2) + (2 + (3 - \alpha)\lambda)n(n - 1) + (1 - \alpha)n] \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} \leq (1 - \alpha).$$

Now

$$\begin{aligned}
& \sum_{n=2}^{\infty} \left[2\lambda n(n-1)(n-2) + (2 + (3-\alpha)\lambda)n(n-1) \right. \\
& \quad \left. + (1-\alpha)n \right] \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} \\
&= \sum_{n=0}^{\infty} \left[2\lambda(n+2)(n+1)n + (2 + (3-\alpha)\lambda)(n+2)(n+1) \right. \\
& \quad \left. + (1-\alpha)(n+2) \right] \frac{(a)_{n+1}(b)_{n+1}}{(c)_{n+1}(1)_{n+1}}. \tag{8}
\end{aligned}$$

Noting that $(\beta)_n = \beta(\beta+1)_{n-1}$ and then applying (4), we may express equation (8) as

$$\begin{aligned}
& \frac{2\lambda(a)_3(b)_3}{(c)_3} \sum_{n=2}^{\infty} \frac{(a+3)_{n-2}(b+3)_{n-2}}{(c+3)_{n-2}(1)_{n-2}} \\
& \quad + \frac{(2+(9-\alpha)\lambda)(a)_2(b)_2}{(c)_2} \sum_{n=1}^{\infty} \frac{(a+2)_{n-1}(b+2)_{n-1}}{(c+2)_{n-1}(1)_{n-1}} \\
& \quad + \frac{(2+(3-\alpha)(1+2\lambda))ab}{c} \sum_{n=0}^{\infty} \frac{(a+1)_n(b+1)_n}{(c+1)_n(1)_n} \\
& \quad + (1-\alpha) \frac{(a)_{n+1}(b)_{n+1}}{(c)_{n+1}(1)_{n+1}} \\
&= \frac{2\lambda(a)_3(b)_3}{(c)_3} \frac{\Gamma(c+3)\Gamma(c-a-b-3)}{\Gamma(c-a)\Gamma(c-b)} \\
& \quad + \frac{(2+(9-\alpha)\lambda)(a)_2(b)_2}{(c)_2} \frac{\Gamma(c+2)\Gamma(c-a-b-2)}{\Gamma(c-a)\Gamma(c-b)} \\
& \quad + \frac{(2+(3-\alpha)(1+2\lambda))ab}{c} \frac{\Gamma(c+1)\Gamma(c-a-b-1)}{\Gamma(c-a)\Gamma(c-b)} \\
& \quad + (1-\alpha) \left[\frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)} - 1 \right] \\
&= \frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)} \\
& \times \left[\frac{2\lambda(a)_3(b)_3}{(c-a-b-3)_3} + \frac{(2+(9-\alpha)\lambda)(a)_2(b)_2}{(c-a-b-2)_2} \right. \\
& \quad \left. + \frac{(2+(3-\alpha)(1+2\lambda))ab}{c-a-b-1} + (1-\alpha) \right] - (1-\alpha).
\end{aligned}$$

But this last expression is bounded by $1 - \alpha$ if and only if (7) holds, thereby completing the proof. \square

Since

$$F_1(a, b; c; z) = z - \sum_{n=2}^{\infty} \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_{n-1}} z^n,$$

the necessity of (7) for F_1 to be in $\mathcal{U}_T(\lambda, \alpha)$ follows from Lemma 2.2.

Theorem 2.2. *If $a, b > -1$, $ab < 0$ and $c > a + b + 3$, then a necessary and sufficient condition for $zF(a, b; c; z)$ to be in $\mathcal{U}_T(\lambda, \alpha)$ ($0 \leq \lambda \leq 1, -1 \leq \alpha < 1$) is that*

$$\begin{aligned} &2\lambda(a)_3(b)_3 + (2 + (9 - \alpha)\lambda)(a)_2(b)_2(c - a - b - 3) \\ &+ (2 + (3 - \alpha)(1 + 2\lambda))ab(c - a - b - 3)_2 \\ &+ (1 - \alpha)(c - a - b - 3)_3 \geq 0. \end{aligned} \tag{9}$$

Proof. Since

$$\begin{aligned} zF(a, b; c; z) &= z + \frac{ab}{c} \sum_{n=2}^{\infty} \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} z^n \\ &= z - \left| \frac{ab}{c} \right| \sum_{n=2}^{\infty} \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} z^n, \end{aligned} \tag{10}$$

according to Lemma 2.2, we must show that,

$$\begin{aligned} &\sum_{n=2}^{\infty} \left[2\lambda n(n-1)(n-2) + (2 + (3 - \alpha)\lambda)n(n-1) \right. \\ &\quad \left. + (1 - \alpha)n \right] \frac{(a+1)_{n-2}(b+1)_{n-2}}{(c+1)_{n-2}(1)_{n-1}} \\ &\leq \left| \frac{c}{ab} \right| (1 - \alpha). \end{aligned} \tag{11}$$

Now

$$\begin{aligned} &\sum_{n=0}^{\infty} [2\lambda(n+2)(n+1)n + (2 + (3 - \alpha)\lambda)(n+2)(n+1) \\ &\quad + (1 - \alpha)(n+2)] \frac{(a+1)_n(b+1)_n}{(c+1)_n(1)_{n+1}} \\ &= 2\lambda \sum_{n=2}^{\infty} \frac{(a+1)_n(b+1)_n}{(c+1)_n(1)_{n-2}} + (2 + (9 - \alpha)\lambda) \sum_{n=1}^{\infty} \frac{(a+1)_n(b+1)_n}{(c+1)_n(1)_{n-1}} \\ &\quad + (2 + (3 - \alpha)(1 + 2\lambda)) \sum_{n=0}^{\infty} \frac{(a+1)_n(b+1)_n}{(c+1)_n(1)_n} \end{aligned}$$

$$\begin{aligned}
 &+ (1 - \alpha) \sum_{n=0}^{\infty} \frac{(a + 1)_n (b + 1)_n}{(c + 1)_n (1)_{n+1}} \\
 &= \frac{2\lambda(a + 1)_2 (b + 1)_2}{(c + 1)_2} \frac{\Gamma(c + 3)\Gamma(c - a - b - 3)}{\Gamma(c - a)\Gamma(c - b)} \\
 &+ \frac{(2 + (9 - \alpha)\lambda)(a + 1)(b + 1)}{(c + 1)} \frac{\Gamma(c + 2)\Gamma(c - a - b - 2)}{\Gamma(c - a)\Gamma(c - b)} \\
 &+ (2 + (3 - \alpha)(1 + 2\lambda)) \frac{\Gamma(c + 1)\Gamma(c - a - b - 1)}{\Gamma(c - a)\Gamma(c - b)} \\
 &+ (1 - \alpha) \frac{c}{ab} \left[\frac{\Gamma(c)\Gamma(c - a - b)}{\Gamma(c - a)\Gamma(c - b)} - 1 \right] \\
 &= \frac{\Gamma(c + 1)\Gamma(c - a - b - 3)}{\Gamma(c - a)\Gamma(c - b)} \\
 &\times \left[2\lambda(a + 1)_2 (b + 1)_2 + (2 + (9 - \alpha)\lambda)(a + 1)(b + 1)(c - a - b - 3) \right. \\
 &\quad + (2 + (3 - \alpha)(1 + 2\lambda))(c - a - b - 3)_2 \\
 &\quad \left. + \frac{(1 - \alpha)}{ab}(c - a - b - 3)_3 \right] - (1 - \alpha) \frac{c}{ab}.
 \end{aligned}$$

Hence (11) is equivalent to

$$\begin{aligned}
 &\frac{\Gamma(c + 1)\Gamma(c - a - b - 3)}{\Gamma(c - a)\Gamma(c - b)} \\
 &\times \left[2\lambda(a + 1)_2 (b + 1)_2 + (2 + (9 - \alpha)\lambda)(a + 1)(b + 1)(c - a - b - 3) \right. \\
 &\quad \left. + (2 + (3 - \alpha)(1 + 2\lambda))(c - a - b - 3)_2 + \frac{(1 - \alpha)}{ab}(c - a - b - 3)_3 \right] \\
 &\leq (1 - \alpha) \left[\frac{c}{|ab|} + \frac{c}{ab} \right] = 0. \tag{12}
 \end{aligned}$$

Thus (12) is valid if and only if

$$\begin{aligned}
 &2\lambda(a + 1)_2 (b + 1)_2 + (2 + (9 - \alpha)\lambda)(a + 1)(b + 1)(c - a - b - 3) \\
 &+ (2 + (3 - \alpha)(1 + 2\lambda))(c - a - b - 3)_2 \\
 &+ \frac{(1 - \alpha)}{ab}(c - a - b - 3)_3 \leq 0,
 \end{aligned}$$

or equivalently,

$$\begin{aligned}
 &2\lambda(a)_3 (b)_3 + (2 + (9 - \alpha)\lambda)(a)_2 (b)_2 (c - a - b - 3) \\
 &+ (2 + (3 - \alpha)(1 + 2\lambda))ab(c - a - b - 3)_2 \\
 &+ (1 - \alpha)(c - a - b - 3)_3 \geq 0.
 \end{aligned}$$

Remark 2.1. Letting $\lambda = 0$ in Theorem 2.1 and Theorem 2.2 above, we get the results of Cho et al [3, pp. 308-309].

3. An Integral Operator

In this section, we obtain similar type results in connection with a particular integral operator $G(a, b; c; z)$ acting on $F(a, b; c; z)$ as follows:

$$G(a, b; c; z) = \int_0^z F(a, b; c; t) dt. \tag{13}$$

Theorem 3.1. (i) If $a, b > 1$ and $c > a + b + 2$, then a sufficient condition for $G(a, b; c; z)$ defined by (13) to be in $\mathcal{U}(\lambda, \alpha)$ ($0 \leq \lambda \leq 1, -1 \leq \alpha < 1$) is that

$$\frac{\Gamma(c)\Gamma(c-a-b)}{\Gamma(c-a)\Gamma(c-b)} \left[\frac{2\lambda(a)_2(b)_2}{(c-a-b-2)_2} + \frac{(2+(3-\alpha)\lambda)ab}{c-a-b-1} + (1-\alpha) \right] \leq 2(1-\alpha). \tag{14}$$

(ii) If $a, b > -1, ab < 0$ and $c > \max\{0, a + b + 2\}$, then $G(a, b; c; z)$ defined by (13) is in $\mathcal{U}_T(\lambda, \alpha)$ ($0 \leq \lambda \leq 1, -1 \leq \alpha < 1$) if and only if

$$\frac{\Gamma(c)\Gamma(c-a-b-2)}{\Gamma(c-a)\Gamma(c-b)} [2\lambda(a+1)(b+1) + (2+(3-\alpha)\lambda)(c-a-b-2) + \frac{(1-\alpha)(c-a-b-2)_2}{ab}] \leq 0. \tag{15}$$

Proof. Since

$$G(a, b; c; z) = z + \sum_{n=2}^{\infty} \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_n} z^n,$$

we note that

$$\begin{aligned} & \sum_{n=2}^{\infty} \left[2\lambda n(n-1)(n-2) + (2+(3-\alpha)\lambda)n(n-1) \right. \\ & \quad \left. + (1-\alpha)n \right] \frac{(a)_{n-1}(b)_{n-1}}{(c)_{n-1}(1)_n} \\ &= \sum_{n=1}^{\infty} \left[2\lambda(n+1)n(n-1) + (2+(3-\alpha)\lambda)(n+1)n \right. \\ & \quad \left. + (1-\alpha)(n+1) \right] \frac{(a)_n(b)_n}{(c)_n(1)_{n+1}} \end{aligned}$$

$$\begin{aligned}
 &= 2\lambda \sum_{n=2}^{\infty} \frac{(a)_n(b)_n}{(c)_n(1)_{n-2}} + (2 + (3 - \alpha)\lambda) \sum_{n=1}^{\infty} \frac{(a)_n(b)_n}{(c)_n(1)_{n-1}} \\
 &\quad + (1 - \alpha) \sum_{n=1}^{\infty} \frac{(a)_n(b)_n}{(c)_n(1)_n} \\
 &= \frac{\Gamma(c)\Gamma(c - a - b)}{\Gamma(c - a)\Gamma(c - b)} \\
 &\times \left[\frac{2\lambda(a)_2(b)_2}{(c - a - b - 2)_2} + \frac{(2 + (3 - \alpha)\lambda)ab}{c - a - b - 1} + (1 - \alpha) \right] - (1 - \alpha),
 \end{aligned}$$

which is bounded above by $(1 - \alpha)$ if and only if (14) holds, which completes the proof of (i).

To prove (ii) we apply Lemma 2.2 to

$$G(a, b; c; z) = z - \frac{|ab|}{c} \sum_{n=2}^{\infty} \frac{(a + 1)_{n-2}(b + 1)_{n-2}}{(c + 1)_{n-2}(1)_n} z^n.$$

It suffices to show that

$$\begin{aligned}
 &\sum_{n=2}^{\infty} \left[2\lambda n(n - 1)(n - 2) + (2 + (3 - \alpha)\lambda)n(n - 1) \right. \\
 &\quad \left. + (1 - \alpha)n \right] \frac{(a + 1)_{n-2}(b + 1)_{n-2}}{(c + 1)_{n-2}(1)_n} \leq (1 - \alpha) \frac{c}{|ab|}. \tag{16}
 \end{aligned}$$

Now

$$\begin{aligned}
 &\sum_{n=0}^{\infty} \left[2\lambda(n + 2)(n + 1)n + (2 + (3 - \alpha)\lambda)(n + 2)(n + 1) \right. \\
 &\quad \left. + (1 - \alpha)(n + 2) \right] \frac{(a + 1)_n(b + 1)_n}{(c + 1)_n(1)_{n+2}} \\
 &= 2\lambda \sum_{n=1}^{\infty} \frac{(a + 1)_n(b + 1)_n}{(c + 1)_n(1)_{n-1}} + (2 + (3 - \alpha)\lambda) \sum_{n=0}^{\infty} \frac{(a + 1)_n(b + 1)_n}{(c + 1)_n(1)_n} \\
 &\quad + (1 - \alpha) \sum_{n=0}^{\infty} \frac{(a + 1)_n(b + 1)_n}{(c + 1)_n(1)_{n+1}} \\
 &= \frac{\Gamma(c + 1)\Gamma(c - a - b - 2)}{\Gamma(c - a)\Gamma(c - b)} \\
 &\times \left[2\lambda(a + 1)(b + 1) + (2 + (3 - \alpha)\lambda)(c - a - b - 2) \right. \\
 &\quad \left. + \frac{(1 - \alpha)(c - a - b - 2)_2}{ab} \right] - (1 - \alpha) \frac{c}{ab}.
 \end{aligned}$$

Hence (16) is equivalent to

$$\begin{aligned} & \frac{\Gamma(c+1)\Gamma(c-a-b-2)}{\Gamma(c-a)\Gamma(c-b)} \\ & \times \left[2\lambda(a+1)(b+1) + (2+(3-\alpha)\lambda)(c-a-b-2) \right. \\ & \quad \left. + \frac{(1-\alpha)(c-a-b-2)_2}{ab} \right] \\ & \leq (1-\alpha) \left[\frac{c}{|ab|} + \frac{c}{ab} \right] = 0. \end{aligned} \quad (17)$$

Thus (17) is valid if and only if

$$\begin{aligned} & \frac{\Gamma(c+1)\Gamma(c-a-b-2)}{\Gamma(c-a)\Gamma(c-b)} \\ & \times \left[2\lambda(a+1)(b+1) + (2+(3-\alpha)\lambda)(c-a-b-2) \right. \\ & \quad \left. + \frac{(1-\alpha)(c-a-b-2)_2}{ab} \right] \leq 0, \end{aligned}$$

which completes the proof. \square

Remark 3.1. Letting $\lambda = 0$ in Theorem 3.1, we obtain the earlier results of Cho et al [3, p. 312].

References

- [1] R. Bharathi, R. Parvatham, A. Swaminathan, On subclasses of uniformly convex functions and a corresponding class of starlike functions, *Tamkang J. Math.*, **28** (1997), 17-32.
- [2] B.C. Carlson, D.B. Shaffer, Starlike and prestarlike hypergeometric functions, *J. Math. Anal. Appl.*, **15** (1984), 737-745.
- [3] N.E. Cho, S.Y. Woo, S. Owa, Uniform convexity properties for hypergeometric functions, *Fract. Calc. Appl. Anal.*, **5**, No. 3 (2002), 303-313.
- [4] A.W. Goodman, On uniformly convex functions, *Ann. Polon. Math.*, **56** (1991), 87-92.
- [5] A.W. Goodman, On uniformly starlike functions, *J. Math. Anal. Appl.*, **155** (1991), 364-370.

- [6] W. Ma, D. Minda, On uniformly convex functions, *Ann. Polon. Math.*, **57** (1992), 166-175.
- [7] E. Merkes, B.T. Scott, Starlike hypergeometric functions, *Proc. Amer. Math. Soc.*, **12** (1961), 885-888.
- [8] S. Owa, H.M. Srivastava, Univalent and starlike generalized hypergeometric functions, *Canad. J. Math.*, **39** (1987), 1057-1077.
- [9] F. Rønning, On starlike functions associated with parabolic regions, *Ann. Univ. Marie Curie-Skłodowska Sect.*, **A 45** (1991), 117-122.
- [10] F. Rønning, Uniformly convex functions and a corresponding class of starlike functions, *Proc. Amer. Math. Soc.*, **118** (1993), 190-196.
- [11] S. Ruscheweyh, V. Singh, On the order of starlikeness of hypergeometric functions, *J. Math. Anal. Appl.*, **113** (1986), 1-11.
- [12] H. Silverman, Starlike and convexity properties for hypergeometric functions, *J. Math. Anal. Appl.*, **172**, No. 3 (1993), 574-581.
- [13] H.M. Srivastava, P.W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press, Ellis Horwood Limited, Chichester, John Wiley and Sons, New York (1985).
- [14] H.M. Srivastava, A.K. Mishra, Applications of fractional calculus to parabolic starlike and uniformly convex functions, *Comput. Math. Appl.*, **39** (2000), 57-69.
- [15] H.M. Srivastava, S. Owa, Ed-s., *Current Topics in Analytic Function Theory*, World Scientific Publishing Company, Singapore, New Jersey, London and Hong Kong (1992).